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Learning outcomes

Students will be able to frame algebraic expressions.
Students will be able to convert real life situations into algebraic expressions.
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FRAMING ALGEBRAIC EXPRESSIONS

Concept of framing algebraic expression will be explained
using a video.
https://www.youtube.com/watch?v=IxHM4i4kwoQ(12.5)
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FRAMING ALGEBRAIC FXPRFSSIONS

algebraic expression

An algebraic expression is a mathematical phrase combinir
numbers and/or variables using mathematical operations.

Both sides of an equation are expressions.

parts of an algebraic expression

Grouping symbols Constant

i\\ _ Variables /
3(x + y 8 + 2y

f-ﬁ—-

Terms Operators

Algebraic Expression

examples of algebraic expressions

6 6+6 6X° 6X+6|6+6-2

expressions DO NOT contain - <
equalily or inequality signs
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FRAMING ALGEBRAIC EXPRESSIONS

coefficient  wvariable constant
AN

~ / d
) Sx+ 7 =2
Coefficients | T J \ J
/ \ expression expression

1 J

2X + 3y - 7 Equltiun

Terms: 5x, 7, \2

Algebraic Expressions
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Evaluation Question EXERCISE 21

1. Write in the form of an algebraic expression:

(i) Perimeter (P) of arectangle is two times the sum of its length (1) and its breadth (b).
(ii) Perimeter (P) of a square is four times its side.

(iii) Area of a square is square of its side.

(iv) Surface area of a cube is six times the square of its edge.

Solution: (i) Let us assume the length be I, breadth be b and perimeter be P. Then the
algebraic expression for the given statement is written as,
P=2(+b)

(i) Let us assume the side be s and perimeter be P. Then the algebraic expression for the given
statement is written as,
P=4s
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Evaluation Question

2. Express each of the following as an algebraic expression:

(i) The sum of x and y minus m.

(ii) The product of x and y divided by m.

(iii) The subtraction of 5m from 3n and then adding 9p to it.

(iv) The product of 12, x, y and z minus the product of 5, m and n.
(v) Sum of p and 2r —s minus sum of a and 3n + 4x.

Solution:

()The algebraic expression for the given sentence is given below
X+y—m

(i) The algebraic expression for the given sentence is given below
Xy /' m
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Evaluation Question

3. Construct a formula for the following:

Total wages (Rs W) of a man whose basic wage is (Rs B) for t hours week plus (Rs R)
per hour, if he works a total of T hours.

Solution:

The wages for t hours is Rs B.

The wages for overtime is R(T —t)

Hence, the total wages is calculated as given below,

W=B+R(T-1)

4. If x = 4, evaluate:

(i) 3x+8 (i) x2 = 2x (iii) x2/ 2
5. If m = 6, evaluate:
(i)5m -6 (ii) 2m2 + 3m (iii) (2m)?
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Evaluation Question
Solution:

(i) 3x + 8

The value of 3x + 8 for x = 4 is calculated as below
Now, substituting x = 4 in the given equation, we get
3Xx+8=3x4+8

=12+8

=20

Therefore, the value of 3x + 8 for x =4 is 20

(i) X2 — 2x

The value of x2 — 2x for x = 4 is calculated as below
Now, substituting x = 4 in the given equation, we get
X2 —2Xx=42-2 x4

=16-8=8

Therefore, the value of x2 —2x forx =4 is 8
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Evaluation Question
Solution:

(i) x2 / 2

The value of x2/ 2 for x =4 is calculated as below
X2[/2=42]2

=16/2=8

Therefore, the value of X2/ 2 forx=4is 8
5.Solution:

() 5m -6

The value of 5m — 6 for m = 6 is calculated as below
Now, substituting the value of m = 6 in the given equation, we get
5m-6=5x6-6

=30-6=24

Hence, the value of 5m — 6 for m = 6 is 24 U—DMﬁ
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Evaluation Question
(i) 2m? + 3m
The value of 2m? + 3m for m = 6 is calculated as below
Now, substituting the value of m = 6 in the given equation, we get
2m? + 3m = 2(6)? + 3(6)
=2x36+3%6
=72+ 18=90
Hence, the value of 2m? + 3m for m = 6 is 90
(iii) The value of (2m)? for m = 6 is calculated as below
Now, substituting the value of m = 6 in the given equation, we get
(2m)? = (2 x 6)°
=122=144
Hence, the value of (2m)? form = 6 is 144
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Evaluation Question
6. If X = 4, evaluate:

(i) 12x + 7

(i) 5x? + 4x

(iii) x>/ 8

Solution: (i) substituting the value of x = 4 in the given equation, we get
12x+7 =12 x4 +7

=48 +7 =55

Therefore, the value of 12x + 7 for x =4 is 55

(ii) The value of 5x2 + 4x for x = 4 is calculated as follows,
Substituting the value of x = 4 in the given equation, we get
52 +4x=5x42+4 x 4

=5x16+16=80+ 16=96

Therefore, the value of 5x2 + 4x for x = 4 is 96 UDM ﬁ
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Evaluation Question
(i) x2 / 8
The value of X2/ 8 for x = 4 is calculated as follows,
Xx2/8=42/8
=16/8=2
Therefore, the value of x2/8 forx =4 is 2
7.1f m =2, evaluate:
(1) 16m =7
(ii) 15m? — 10m
(iii)1/4 xm3
1)Solution : The value of 16m — 7 for m = 2 is calculated as below,
16m—-7=16x2-7=32-7=25
Hence, the value of 16m -7 form=2is 25

0DM=ts

EDUCATIONAL GROUP
ha, a

Y Changing your Tomaorrow,



Evaluation Question
(i) 15m? — 10m
The value of 15m2 — 10m for m = 2 is calculated as below,
15m2—-10m=15x%x22-10 x 2
=15x4-20
=60 — 20=40
Hence, the value of 15m2 — 10m for m = 2 is 40
(ii)1/4 xm3
The value of 1 /4 x m3 for m = 2 is calculated as below,
1/4xm3=1/4x23
=1/4x8=2
Hence the value of 1 /4 xm3form=2is 2
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Evaluation Question
8. If x = 10, evaluate:

(i) 100x + 225

(ii) 6x2 = 25x  (iii) 1 /50 x x3

Solution:

(DThe value of 100x + 225 for x = 10 is calculated as follows,
100x + 225 =100 x 10 + 225

= 1000 + 225= 1225

Therefore, the value of 100x + 225 for x = 10 is 1225

(il The value of 6x2 — 25x for x = 10 is calculated as follows,
6x% — 25x = 6 x 102 — 25 x 10

=6 x 100 — 250

= 600 — 250 = 350
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Evaluation Question
(i) 1 /50 x x3
The value of 1 /50 x x3 for x = 10 is calculated as follows,
1/50xx3=1/50 x 103
=1/50 x 1000
We get,
=20
Therefore, the value of 1 /50 x x3 for x = 10 is 20
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Additional Homework

1. Fill in the blanks:
() 8x +5x=.......

(i) 8x = dx = ......

(iii) 6xy? + Oxy? = .......

HWEXx.21 Q NO 1TO 10
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